CITY OF EL PASO, TEXAS AGENDA ITEM **DEPARTMENT HEAD'S SUMMARY FORM**

AGENDA DATE:

June 6, 2023

PUBLIC HEARING DATE:

CONTACT PERSON(S) NAME AND PHONE NUMBER:

Richard J. Bristol, Streets and Maintenance Director, (915) 212-7000

K. Nicole Cote, Managing Director (915) 212-1092

DISTRICT(S) AFFECTED:

STRATEGIC GOAL:

No. 7- Enhance and Sustain El Paso's Infrastructure Network

SUBGOAL:

7.2 - Improve competitiveness through infrastructure improvements

impacting the quality of life

SUBJECT:

Discussion and action on the award of solicitation 2023-0415 Mast Arm Poles to Consolidated Electrical Distributors, Inc. dba Wildcat Electric Supply for a one (1) year term for an estimated amount of \$1,391,088.00.

BACKGROUND / DISCUSSION:

This contract will allow the purchase of mast arm and street light poles.

<u>SELECTION SUMMARY:</u>
Solicitation was advertised on March 21, 2023 and March 28, 2023. The solicitation was posted on City website on March 21, 2023. There were a total fifteen (15) viewers online; one (1) bid was received from a non-local supplier. An Inadequate Competition Survey was conducted.

CONTRACT VARIANCE:

The difference based in comparison to the previous contract is as follows: An increase of \$78,840.42 for the initial term, which represents a 6.01% increase due to an increase in price for steel items.

PROTEST

No protest received for this requirement.

PRIOR COUNCIL ACTION:

N/A

AMOUNT AND SOURCE OF FUNDING:

Amount: \$1,391,088.00

Funding Source: General Fund

Account: 532-1000-532030-32020-P3252

HAVE ALL AFFECTED DEPARTMENTS BEEN NOTIFIED? _X_ YES ___NO

PRIMARY DEPARTMENT: Streets and Maintenance

SECONDARY DEPARTMENT: Purchasing & Strategic Sourcing

***	**************REQUIRE	D AUTHOR	IZATION*****	********
DEPARTMENT HEAD:	12	4	$\overline{}$	5-23-23
*	Righard J. Bristol S	treets and Ma	aintenance Dire	ctor

COUNCIL PROJECT FORM (LOW BID)

Please place the following item on the **REGULAR** agenda for the Council Meeting of **June 6**, **2023**.

Strategic Goal 7: Enhance and Sustain El Paso's Infrastructure Network

The linkage to the strategic plan is subsection 7.5 – Set One Standard for Infrastructure Across the City

Award Summary:

Discussion and Action on the request that the Purchasing Director be authorized to issue a purchase order for the award of solicitation 2023-0415 Mast Arm Poles to Consolidated Electrical Distributors, Inc. dba Wildcat Electric Supply for a one (1) year term for an estimated amount of \$1,391,088.00. This contract will allow the purchase of mast arm and street light poles.

Contract Variance:

The difference based in comparison to the previous contract is as follows: An increase of \$78,840.42 for the initial term, which represents a 6.01% increase due to an increase in price for steel items.

Department: Streets and Maintenance

Vendor: Consolidated Electrical Distributors, Inc.

dba Wildcat Electric Supply

Houston, TX

Item(s): All Initial Term: 1 Year

Total Estimated Award: \$1,391,088.00

Account No.: 532-1000-532030-32020-P3252

Funding Source: General Fund

District(s):

This is a Low Bid, Unit Price Contract.

The Purchasing & Strategic Sourcing and Streets and Maintenance Departments recommend award as indicated to Consolidated Electrical Distributors, Inc. dba Wildcat Electric Supply the sole responsible, responsive bidder.





BID TITLE: MAST ARM POLES
BID NO: 2023-0415

BID DATE: APRIL 26, 2023 DEPARTMENT: STREETS AND MAINTENANCE									
					ical Distributors, Inc. lectric Supply on, TX				
					Bidde	r 1 of 1			
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	MINIMUM APPROXIMATE QUANTITIES	MAXIMUM APPROXIMATE QUANTITES	PRICE	YEARLY TOTAL C = AXB	PRICE	YEARLY TOTAL C = AXB	
				(A)	(B)	(C)	(B)	(C)	
GROU	P 1								
Mast A	Arm Poles								
1	Mast Arm Pole, 20' Galvanized Finish Arm 16" Bold Circle	Each	10	20	\$ 7,339.00	\$ 146,780.00	\$ -	\$ -	
2	Mast Arm Pole, 25' Galvanized Finish Arm 16" Bolt Circle	Each	10	20	\$ 7,717.00	\$ 154,340.00	\$ -	\$ -	
3	Mast Arm Pole, 30' Galvanized Finish Arm 16" Bolt Circle	Each	10	20	\$ 8,376.00	\$ 167,520.00	\$ -	\$ -	
4	Mast Arm Pole, 35' Galvanized Finish Arm 16" Bolt Circle	Each	8	12	\$ 8,396.00	\$ 100,752.00	\$ -	\$ -	
5	Mast Arm Pole, 35' Galvanized Finish Arm 17" Bolt Circle arm & 20' Height Shaft	Each	10	12	\$ 9,225.00	\$ 110,700.00	\$ -	\$ -	
6	Mast Arm Pole, Type III 40' Galvanized Finish Arm, 19" Bolt Circle & 20' Height Shaft	Each	8	12	\$ 12,568.00	\$ 150,816.00	\$ -	\$ -	
7	Mast Arm Pole, Type III 48' Galvanized Finish Arm 19" Bolt, Circle & 20' Height Shaft	Each	8	15	\$ 14,452.00	\$ 216,780.00	\$ -	\$ -	
8	Traffic Signal Pole Assembly for Items 1-4	Each	10	20	\$ 5,308.00	\$ 106,160.00	\$ -	\$ -	
				TOTAL		\$ 1,153,848.00		\$ -	

Approved By: /s/
Date: 04/28/2023





BID TITLE: MAST ARM POLES
BID NO: 2023-0415

BID DATE: APRIL 26, 2023 DEPARTMENT: STREETS AND MAINTENANCE									
						olidated Electri dba Wildcat E Houste			
						Bidder	· 1 of 1		
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	MINIMUM APPROXIMATE QUANTITIES	MAXIMUM APPROXIMATE QUANTITES		PRICE	YEARLY TOTAL C = AXB	PRICE	YEARLY TOTAL C = AXB
				(A)		(B)	(C)	(B)	(C)
GROU	JP 2								
Street	Light Poles					Ī			
1	Pole, Grey, Galvanized 40'	Each	10	20	\$	2,484.00	\$ 49,680.00	-	\$ -
2	Pole, Grey, Galvanized 50'	Each	10	20	\$	2,988.00	\$ 59,760.00	-	\$ -
3	Transformer Base, Grey Galvanized TB1-17	Each	20	40	\$	552.00	\$ 22,080.00	-	\$ -
4	Transformer Base, Grey Galvanized TB3-17	Each	20	40	\$	805.00	\$ 32,200.00	-	\$ -
5	Transformer Base, Green Galvanized TB1-17	Each	10	20	\$	627.00	\$ 12,540.00	\$ -	\$ -
6	Transformer Base, Green Galvanized TB3-17	Each	10	20	\$	908.00	\$ 18,160.00	\$ -	\$ -
7	Luminaire arms, Grey Galvanized 4'	Each	10	12	\$	395.00	\$ 4,740.00	\$ -	\$ -
8	Luminaire arms, Grey Galvanized 8'	Each	8	12	\$	490.00	\$ 5,880.00	\$ -	\$ -

Approved By: <u>/s/</u>
Date: <u>04/28/2023</u>





BID TITLE: MAST ARM POLES BID NO: 2023-0415

BID DATE: APRIL 26, 2023 DEPARTMENT: STREETS AND MAINTENANG								AND MAINTENANCE			
					Consolidated Electrical Distributors, Inc. dba Wildcat Electric Supply Houston, TX						
ITEM DESCRIPTION UNIT OF MEASURE QUANTITIES QUANTITES				PRICE		EARLY TOTAL C = AXB	PRICE		YEARLY TOTAL C = AXB		
				(A)		(B)		(C)		(B)	(C)
9	Luminaire arms, Grey Galvanized 10'	Each	8	12	\$	515.00	\$	6,180.00	\$	-	\$ -
10	Luminaire arms, Grey Galvanized 12'	Each	8	12	\$	560.00	\$	6,720.00	\$	-	\$ -
11	Luminaire arms, Grey Galvanized 20'	Each	10	20	\$	965.00	\$	19,300.00	\$	-	\$ -
				TOTAL			\$	237,240.00			\$ -

Approved By: __/s/ Date: <u>04/28/2023</u>





BID TITLE: MAST ARM POLES		BID NO: 2023-0415
BID DATE: APRIL 26, 2023	DEPA	RTMENT: STREETS AND MAINTENANCE
	Consolidated Electrical Distributors, Inc. dba Wildcat Electric Supply Houston, TX	
	Bidder 1 of 1	
OPTION TO EXTEND THE TERM OF THE		
<u>AGREEMENT</u>		
THE CITY AT ITS SOLE DISCRETION, MAY EXERCISE ANY OPTION TO EXTEND THE TERM OF THE AGREEMENT, BY GIVING THE CONTRACTOR WRITTEN NOTICE WITHIN THE TIME PERIOD NOTED ON THE SELECTED OPTIONS. THE TERM OF THIS CONTRACT SHALL BE BASED ON ONE OF THE SELECTIONS BELOW AND UNDER THE SAME TERMS AND CONDITIONS. THE CITY MANAGER OR DESIGNEE MAY EXTEND THE OPTION TO EXTEND.		
BIDDER OFFERS THE CITY THE OPTION OF EXTENDING THE TERM OF THE CONTRACT FOR:		
TWO (2) ADDITIONAL YEARS AT THE SAME UNIT PRICE(S), IF THE OPTION IS EXERCISED PRIOR		
NO OPTION OFFERED	х	
AMENDMENTS ACKNOWLEDGED:	YES	
BIDS SOLICITED: 232 LOCAL BIDS SOLICITED: 132 BIDS RECEIVED:	1 LOCAL BIDS RECEIVED: 0	NO BID: 4

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

2023-0415 Mast Arm Poles Online Views

Participant Name	<u>tε Response Statu</u>	State		
1 Champion Wire & Cable	03/21/2023	No Bid	Westbury	NY
2 Construction Reporter		Viewed	Albuquerque	NM
3 ECB Solutions LLC	04/17/2023	No Bid	Oxford	MS
4 JSR Construction & Remodeling LLC		Viewed	Santa Teresa	NM
5 Key Reliable Services (Key Reliable Services LLC)		Viewed	LAS VEGAS	NV
6 LUX Illumination LLC		Viewed	El Paso	TX
7 Sunset Survival & First Aid Inc	04/25/2023	No Bid	Huntington Beach	CA
8 TECHLINE INC		Unsubmitted	NEW BRAUNFELS	TX
9 Texas Boombox Factory (Texas boombox Factory)		Viewed	El Paso	TX
10 The PlanIt Room		Viewed	El Paso	TX
11 Tiger Traffic, Inc.		Viewed	Houston	TX
12 Welding mobile and commercial (Drivesafe Course Prov	v id	Unsubmitted	El Paso	TX
13 wildcat electric supply	04/26/2023	Submitted	San Marcos	TX
14 WinSupply of El Paso (WinSupply of El Paso TX Co)		Viewed	El Paso	TX
15 WOFFORD TRUCK PARTS (TE EL PASO,LLC)	03/21/2023	No Bid	EL PASO	TX